3x-5

2x2 -1

01V% 13 X YV DIV D99y ANN
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S5x

4x + 1

7+5x

BRE
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003 A YY DIV DY99Y ANN
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BRE
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2x + 3y

x +2y

-X + 2y
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BRE
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l. x+5+x-3=
2. 6y—-T—-6y+7=
3. 4z—5-4—-4z=
4. 10x-8—-4-2x=

5. S5y—-8—-1+3=

11. 2x +6-5—-4x=
12. Sy-3-2y-1=
13. 8z2—-4—-z+3 =
14. O9x—-6+x—-3=

15,y -4y -2y +6 =

6. 3z-6-T7T—-z=
7. 5x+4+x+1=
8. 9-8—-3+4z=
9. 5y—-4-Ty +3=

10.x+5x+4x -6 =
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2(x+3)=

3(x-2)=

53x+4)=

9(2x — 6) =

402 - 3x) =

2(7x—1)=

34x +2) =

7(6x—1)=

32— 5%) =

52+ 3x)=
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2x + 3x + 4x - 5x 4x X 4 0

2x +3+4x+ 7

3b+1+5b+2

2y+5+y+6

S+3d+4+2d

4z +2z+1+ 8

8x+2+4x+5

Tb+2b+3+1

2t +4 +1 + 3t

2d-5+4d+2

3x+6-2x+4

2y-1+3-4

2—-1-3x+5x

29
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10 — 2(x + 3) =

9'3—4Qx—6)= /)

5 6(3x+ 1) =

9 —5(3 —4x) = r f/)

17 —2(9 — 4x) = AN Y
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= /j;;//:f o — ’g//% ‘ \\T\\

—(4x+3)+ 1=

3—(6x+5)=

4-3x-8)=

10 — (8 + 2x) = - —

7-(9-3x)= ,fi
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